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Answer ail tlre fouowing qu,eqtigns: (Hazen-wittiams chaft is altowed and any missing data can be assumed)

Quesffon I (30 marks)

What is the procedure in the design of water distribution system?" " " ":' " "t51
Given the network shown in Fig. i, the inflow at A, and outflows at C, D and E. Using Hardy

Cross method, find the flows in tfre individual pipes comprising the network (only one trial is

required). "'t251
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Question 2 (25 marks)

a) Define equivalent pipe?... . . . . '  """"""ts]
ni oetermine the diameter of pipeline BC in the shown network Fig.2 of a distribution

system, given the following data:
Discharge Q = 200 liUsec'
Pressure at A = 50 meters head.
Pressure at E = 30 meters head. t20l

A L :  1200  ms

E
E
oro
(f)

l l

e

(n

€
t l

I

L = 1200 ms L = 1000 ms

See next
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r Quesfion 3 (25 marks)
G;tethenetworkshowninFig.3atsect ionsA-AandB.B
3iven the following data: Population of the city = 120,000 capita

Fire demand = 350 liUsec.
Population up to section A-A = 30 % of the total population.
Population up to section B-B = 70 Yo of the total population.
Annual average rate of water consumption 100 liucapita/day.
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Question 4 (20 marks)
lnr/estigate the minor pipes of the distribution system shown in Fig. 4.

The requlred fire flow 300 lit/sec. Feeders are 1000 ms apart and the normal
pressuie in the feeders is 2'8 kg/cm2.

F iq .4

End of Exam - Good luck looo m
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